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QUESTION 1

A company has recently switched to the VMware Hybrid Cloud solution and the administrator needs to use the offline
data transfer option for the existing backed up storage data. Which interface should the administrator use to activate the
offline data transfer? 

A. Technology Alliance Partner Portal 

B. vSphere Web Client 

C. MyVMware Portal 

D. Workspace Portal 

Correct Answer: D 

 

QUESTION 2

Which option enables the user to provision a virtual machine that queries the vCloud Air service? 

A. Deploy vApp after copy (in fenced mode) 

B. Power on vApp 

C. Remove temporary vApp template 

D. Offline Data Transfer 

Correct Answer: C 

 

QUESTION 3

Which three management tools are available in the vCloud Air environment? (Choose three.) 

A. vCloud Connector 

B. vCloud Air Web Portal 

C. vCloud Air vSphere Client Plug-In 

D. vSphere Hypervisor 

E. App Volumes Manager 

Correct Answer: ACD 

 

QUESTION 4

Which network is used for private internal communication, but does not allow external networking access? 
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A. Routed network 

B. Isolated network 

C. Fenced network 

D. Default network 

Correct Answer: C 

 

QUESTION 5

Which two statements are true about managing applications and data in VMware vCloud Air? (Choose two.) 

A. Applications and data are backed up in vCloud Air. 

B. Applications and data are managed by your administrators and support agents from vCloud Air. 

C. Applications and data are available on your premises on demand. 

D. Applications and data are completely mobile from your on-premises data center to vCloud Air. 

Correct Answer: BD 

 

QUESTION 6

Which component of vCloud Air helps administrators customize their networks settings to support existing applications
and meet their company\\'s security needs? 

A. Firewall 

B. NAT 

C. Load Balancer 

D. Edge Gateway 

Correct Answer: B 

 

QUESTION 7

Which three tasks can the administrator perform using vCloud Air Web Portal? (Choose three.) 

A. Configure virtual machines 

B. Create user management access rules 

C. Establish network settings 

D. Manage on-premises Edge Gateways 
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E. Configure vCenter server settings 

Correct Answer: ABD 

 

QUESTION 8

Which three options are underlying networking technologies for vCloud Air? (Choose three.) 

A. NSX 

B. Private Virtual LAN 

C. Virtual Extensile LAN 

D. VMware vSphere 

E. OpenFlow 

Correct Answer: BCD 

 

QUESTION 9

What are three ways vCloud Air helps administrators overcome network compatibility constraints with vCloud Air?
(Choose three.) 

A. Provides options to administrators to choose their own networking components. 

B. Includes an NSX Edge Gateway which behaves like a core switch with modules for advanced Layer 3 switching. 

C. Supports a bring-your-own security policy, which allows administrators to use their own third-party appliances. 

D. Helps administrators overcome network and security challenges by offering vCloud Air as just another remote site. 

E. Offers networking flexibility where customers can configure networking constructs at a granular level. 

Correct Answer: BDE 

 

QUESTION 10

Which three options represent advantages on implementing VXLANs? (Choose three.) 

A. VXLANs provide distributed firewall services. 

B. VXLANs allow compute resources to be pooled across non-contiguous clusters. 

C. VXLANs allow full-encapsulation at Layer 2, which provides network security. 

D. VXLANs provide the ability to deploy completely customizable networks. 

E. VXLANs provide end-to-end data-link level encryption. 
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Correct Answer: BCE 

1V0-602 VCE Dumps 1V0-602 Practice Test 1V0-602 Study Guide

Powered by TCPDF (www.tcpdf.org)

1V0-602 VCE Dumps | 1V0-602 Practice Test | 1V0-602 Study Guide                                5 / 5

https://www.pass2lead.com/1v0-602.html
https://www.pass2lead.com/1v0-602.html
https://www.pass2lead.com/1v0-602.html
http://www.tcpdf.org
https://www.pass2lead.com/1v0-602.html
https://www.pass2lead.com/1v0-602.html
https://www.pass2lead.com/1v0-602.html

